Popstarz Tent
The Popstarz tent plays indie music. It is square.



· What is the total area of the tent?


· How many people can this tent hold?

The organisers are thinking of putting a 4m x 8m podium in, for people to dance on.

· What is the area of the podium?

· How many people could it hold? 

· What area is left for the dance floor?

· What fraction of the tent is covered by the podium?

· Can you simplify this fraction?

· What percentage is this?

One of the sides is open. The other three sides have wall panels. 

· What is the total length of the wall panels?

· What fraction of the perimeter is walled? 

· What percentage is this?
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Kalabash Tent

The Kalabash tent plays Black and ethnic music. It is rectangular. 






The DJ area is square. Each side is 4m.  

· What is the total area of the tent?

· How big is the DJ area?

· What area is left for the dance floor? 


· How many people can this tent hold?

The organisers are thinking of putting a 4m x 6m stage next to the DJ area.

· What is the area of the stage?

· What area is left for the dance floor?

· How many people could it hold now? 

· What fraction of the tent is covered by the dance floor?

· Can you simplify this fraction?

· What percentage is this?

One of the long sides is open. The other three sides have wall panels. 

· What is the total length of the wall panels?

· What fraction of the perimeter is walled? 

· Can you simplify the fraction? 

· What percentage is this?
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The Park

Preston Park is a large park in central Brighton. It is triangular.







The park is a triangle. The base is 400m. The height is 700m.

· What is the total area of the park?

· What units are you using?

The narrow end of the park contains a cafe, tennis courts, bowling greens and a playground.

· What is the area of this part of the park?

· What area is left for Pride?

· What fraction of the park is left for Pride?

· Can you simplify this fraction?

· What percentage is this?

· What shape is the Pride area?
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Stalls

Community groups have information stalls. Businesses sell T shirts, jewellery, takeaway food, etc. This area is a trapezium.





· What is the total area of the stalls?

· If the height were increased to 100m, what would the new area be?

· How much is this increase?

· What percentage is this increase?

· If the base and top stay the same, what height would give a total area of 1000m²?
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Dance Tent

The main dance tent plays club music. It is circular. 


The stage area (for the DJ and the speaker stacks) takes up 90m2. 

· What area is left for the dance floor? 

You can fit in 1.5 people/m2.

· How many people can this tent hold?

· Write a formula for the number of people, P, that a tent of radius r can hold.

· Assuming the stage doesn’t change, what radius of tent will hold 1000 people? 2000 people? P people?
There are 100m of wall panels and three equal entrance/exit gaps.

· How wide is each gap?

· What percentage of the circumference is walled? 
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Cabaret Tent

The cabaret tent is rectangular with semicircular ends.






The stage area takes up 110m2. 

· What area is left for the audience? 

You can fit in 1.5 people/m2.

· How many people can this tent hold?

· Write a formula for the number of people, P, that a tent of width w and depth/diameter d can hold.

· Assuming the width (and the stage) don’t change, what depth/diameter of tent will hold 1000 people? 2000 people? P people?

There are 100m of wall panels and three equal entrance/exit gaps.

· How wide is each gap?

· What percentage of the circumference is walled? 
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16m
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